

Derivatives of logarithmic Functions

(1) $f(x) = \ln(\pi x)$

$$f'(x) = \frac{d}{dx} [\ln(\pi x)]$$
$$= \frac{1}{\pi x} \frac{d}{dx} (\pi x)$$

ie, $f'(x) = \frac{\pi}{\pi x}$; $f'(x) = \frac{1}{x}$

(3) $f(x) = \ln(x^2)$

$$f'(x) = \frac{d}{dx} [\ln(x^2)]$$
$$= \frac{1}{x^2} \frac{d}{dx} (x^2) \cdot 2x$$

$$= \frac{2x}{x^2} ;$$

$$f'(x) = \frac{2}{x}$$

(3) $f(x) = \ln[\sin(x)]$

$$f'(x) = \frac{d}{dx} [\ln(\sin(x))]$$
$$= \frac{1}{\sin(x)} \frac{d}{dx} (\sin(x))$$

$f'(x) = \frac{\cos(x)}{\sin(x)} ;$ $f'(x) = \cot(x)$

$$(7) \quad f(x) = \ln(x^3)$$

$$f'(x) = \frac{d}{dx} [\ln(x^3)]$$

$$= \frac{1}{x^3} \frac{d}{dx} (x^3)$$

$$= \frac{3x^2}{x^3}$$

$$\boxed{f'(x) = \frac{3}{x}}$$

$$(9) \quad f(x) = \ln(4x^5)$$

$$f'(x) = \frac{d}{dx} [\ln(4x^5)]$$

$$= \frac{1}{4x^5} \frac{d}{dx} (4x^5)$$

$$= \frac{20x^4}{4x^5}$$

$$\boxed{f'(x) = \frac{5}{x}}$$

$$(11) \quad f(x) = x \ln(2x)$$

$$f'(x) = \frac{d}{dx} [x \ln(2x)]$$

product rule

$$f'(x) = \frac{d}{dx} [x \ln(2x)]$$

$$= x \cdot \frac{d}{dx} [\ln(2x)] + \ln(2x) \cdot \frac{d}{dx} (x)$$

$$f'(x) = x \cdot \frac{1}{2x} + \ln(2x)$$

$$f'(x) = 1 + \ln(2x)$$

(13) $f(x) = x^2 \ln(x)$

$$f'(x) = \frac{d}{dx} [x^2 \ln(x)]$$

• product rule!

$$f'(x) = x^2 \cdot \frac{d}{dx} [\ln(x)] + \ln(x) \cdot \frac{d}{dx} (x^2)$$

$$f'(x) = \frac{x^2}{x} + 2x \ln(x)$$

$$f'(x) = x + 2x \ln(x)$$

(15) $f(x) = x^3 \ln(6x)$

$$f'(x) = \frac{d}{dx} (x^3 \ln(x))$$

product rule!

$$f'(x) = x^3 \cdot \frac{d}{dx} (\ln(x)) + \ln(x) \cdot \frac{d}{dx} (x^3)$$

$$f'(x) = \frac{x^3}{x} + 3x^2 \ln(x)$$

$$\boxed{f'(x) = x^2 + 3x^2 \ln(x)}$$

(17) $f(x) = \sqrt{\ln(x)}$

$$f(x) = [\ln(x)]^{1/2}$$

$$f'(x) = \frac{d}{dx} [\ln(x)]^{1/2}$$

$$f'(x) = \frac{1}{2} [\ln(x)]^{1/2 - 1}$$

$$f'(x) = \frac{1}{2} [\ln(x)]^{-1/2} \cdot \frac{1}{x}$$

$$\frac{1}{2} - 1 \rightarrow \frac{1}{x} \cdot \frac{d}{dx} (\ln(x))$$

$$\boxed{f'(x) = \frac{1}{2x\sqrt{\ln(x)}}}$$

(19) $f(x) = \ln^2(x)$

$$f(x) = [\ln(x)]^2$$

$$f'(x) = \frac{d}{dx} [\ln(x)]^2$$

$$f'(x) = 2[\ln(x)]^{2-1} \cdot \frac{1}{x}$$

$$f'(x) = 2 \ln(x) \cdot \frac{1}{x}$$

$$\boxed{f'(x) = \frac{2 \ln(x)}{x}}$$

$$(21) \quad f(x) = 4 \ln^3(x)$$

$$f(x) = 4 [\ln(x)]^3$$

$$f'(x) = \frac{d}{dx} [4 [\ln(x)]^3]$$

$$= 4 \frac{d}{dx} [\ln(x)]^3$$

$$= 4 \cdot 3 [\ln(x)]^{3-1} \frac{d}{dx} (\ln(x)) \cdot \frac{1}{x}$$

$$= 12 \ln^2(x) \cdot \frac{1}{x}$$

$$\boxed{f'(x) = \frac{12 \ln^2(x)}{x}}$$

$$(23) \quad f(x) = \frac{\ln(x)}{x}$$

$$f'(x) = \frac{d}{dx} \left[\frac{\ln(x)}{x} \right] \cdot \frac{1}{x}$$

$$= \frac{x \frac{d}{dx} (\ln(x)) - \ln(x) \frac{d}{dx} (x)}{x^2}$$

$$= \frac{x \cdot \frac{1}{x} - \ln(x) \cdot 1}{x^2}$$

$$\boxed{f'(x) = \frac{1 - \ln(x)}{x^2}}$$

$$(25) f(x) = \frac{\ln(3x)}{x^4}$$

$$f'(x) = \frac{d}{dx} \left[\frac{\ln(3x)}{x^4} \right] = \frac{1}{3x} \cdot \frac{d}{dx}(3x) - \ln(3x) \cdot \frac{d}{dx}(x^4)$$

$$= \frac{x^4 \cdot \frac{d}{dx}(\ln(3x)) - \ln(3x) \cdot \frac{d}{dx}(x^4)}{(x^4)^2}$$

$$f'(x) = \frac{x^4 \cdot \frac{3}{3x} - 4x^3 \ln(3x)}{x^8}$$

$$f'(x) = \frac{x^3 - 4x^3 \ln(3x)}{x^8}$$

$$(27) f(x) = \ln(\sqrt{x})$$

$$f'(x) = \frac{d}{dx} [\ln(\sqrt{x})]$$

$$= \frac{1}{\sqrt{x}} \cdot \frac{d}{dx}(\sqrt{x}) = \frac{1}{2\sqrt{x}}$$

$$f'(x) = \frac{1}{\sqrt{x}} \cdot \frac{1}{2\sqrt{x}}$$

$$f'(x) = \frac{1}{2x}$$

$$(24) \quad f(x) = \frac{\ln(4x)}{\sqrt{x}}$$

$$f'(x) = \frac{d}{dx} \left[\frac{\ln(4x)}{\sqrt{x}} \right]$$

Quotient Rule

$$f'(x) = \frac{\sqrt{x} \cdot \frac{d}{dx}(\ln(4x)) - \ln(4x) \cdot \frac{d}{dx}(\sqrt{x})}{(\sqrt{x})^2}$$

$$f'(x) = \frac{\sqrt{x} \cdot \frac{4}{4x} - \ln(4x) \cdot \frac{1}{2\sqrt{x}}}{x}$$

$$f'(x) = \left(\frac{\sqrt{x}}{x} - \frac{\ln(4x)}{2\sqrt{x}} \right) \cdot \frac{1}{x}$$

$$f'(x) = \left(\frac{\sqrt{x}}{x} - \frac{\ln(4x)}{2\sqrt{x}} \right) \cdot \frac{1}{x}$$

$$f'(x) = \frac{\sqrt{x}}{x^2} - \frac{\ln(4x)}{2x\sqrt{x}}$$

$$f'(x) = \frac{x^{1/2}}{x^2} - \frac{\ln(4x)}{2x\sqrt{x}}$$

$$f'(x) = x^{-3/2} - \frac{\ln(4x)}{2x\sqrt{x}}$$

$$f'(x) = \frac{1}{x^{3/2}} - \frac{\ln(4x)}{2x\sqrt{x}}$$

$$f'(x) = \frac{1}{x\sqrt{x}} - \frac{\ln(4x)}{2x\sqrt{x}}$$

$$f'(x) = \frac{2}{2x\sqrt{x}} - \frac{\ln(4x)}{2x\sqrt{x}}$$

$$f'(x) = \frac{2 - \ln(4x)}{2x\sqrt{x}}$$

(31) $f(x) = \sin\left[\ln\left(\frac{1}{x}\right)\right]$

$$f'(x) = \frac{d}{dx} \left[\sin\left(\ln\left(\frac{1}{x}\right)\right) \right]$$

$$= \cos\left(\ln\left(\frac{1}{x}\right)\right) \cdot \frac{d}{dx} \left(\ln\left(\frac{1}{x}\right) \right)$$

$$\frac{1}{1/x} \cdot \frac{d}{dx} \left(\frac{1}{x} \right)$$

$$- \frac{1}{x^2}$$

$$f'(x) = \cos\left(\ln\left(\frac{1}{x}\right)\right) \cdot x \left(-\frac{1}{x^2} \right)$$

$$f'(x) = - \frac{\cos\left(\ln\left(\frac{1}{x}\right)\right)}{x}$$

$$(33) \quad f(x) = \tan \left[\ln \left(\frac{\pi}{x} \right) \right]$$

$$f'(x) = \frac{d}{dx} \left[\tan \left[\ln \left(\frac{\pi}{x} \right) \right] \right]$$

$$= \sec^2 \left[\ln \left(\frac{\pi}{x} \right) \right] \frac{d}{dx} \left[\ln \left(\frac{\pi}{x} \right) \right]$$

$$\frac{1}{\pi/x} \frac{d}{dx} \left[\frac{\pi}{x} \right]$$

$$= -\frac{\pi}{x^2}$$

$$f'(x) = \sec^2 \left[\ln \left(\frac{\pi}{x} \right) \right] \cdot \frac{x}{\pi} \cdot -\frac{\pi}{x^2}$$

$$f'(x) = \sec^2 \left[\ln \left(\frac{\pi}{x} \right) \right] \cdot \left(-\frac{1}{x} \right)$$

$$f'(x) = - \frac{\sec^2 \left(\ln \left(\frac{\pi}{x} \right) \right)}{x}$$

$$(35) \quad f(x) = x^{\tan(x)}$$

$$\text{let } y = x^{\tan(x)} ; \quad \ln(y) = \ln(x^{\tan(x)})$$

$$\ln(y) = \tan(x) \cdot \ln(x)$$

$$\frac{d}{dx} (\ln(y)) = \frac{d}{dx} \left[\tan(x) \cdot \ln(x) \right]$$

product Rule!

$$\begin{aligned} \frac{d}{dx}(\ln(y)) &= \frac{d}{dx}[\tan(x) \ln(x)] \\ \frac{1}{y} \cdot y' &= \tan(x) \frac{d}{dx}(\ln(x)) + \ln(x) \frac{d}{dx}(\tan(x)) \\ &\quad \text{Sec}^2(x) \end{aligned}$$

$$\frac{1}{y} \cdot y' = \frac{\tan(x)}{x} + \text{Sec}^2(x) \ln(x)$$

$$y' = y \left[\frac{\tan(x)}{x} + \text{Sec}^2(x) \ln(x) \right]$$

$$y' = x^{\tan(x)} \left[\frac{\tan(x)}{x} + \text{Sec}^2(x) \ln(x) \right]$$

(37) $f(x) = (\sin(x))^x$

let $y = (\sin(x))^x$; $\ln(y) = \ln((\sin(x))^x)$

$$\ln(y) = x \cdot \ln(\sin(x))$$

$$\frac{d}{dx}(\ln(y)) = \frac{d}{dx}(x \cdot \ln(\sin(x)))$$

Product Rule!

$$\frac{1}{y} \cdot y'$$

$$\begin{aligned} \frac{1}{y} \cdot y' &= x \frac{d}{dx}[\ln(\sin(x))] + \ln[\sin(x)] \frac{d}{dx}(x) \\ &\quad \frac{1}{\sin(x)} \frac{d}{dx}(\sin(x)) \quad 1 \\ &\quad \cos(x) \end{aligned}$$

$$\frac{y'}{y} = x \frac{\cos(x)}{\sin(x)} + \ln[\sin(x)]$$

$$\frac{y'}{y} = x \cot(x) + \ln[\sin(x)]$$

$$y' = y [x \cot(x) + \ln(\sin(x))]$$

$$y' = \sin^x(x) [x \cot(x) + \ln(\sin(x))]$$

$$(41) f(x) = (3x+5)^4 (x-1)^3$$

$$y = (3x+5)^4 (x-1)^3$$

$$\ln(y) = \ln[(3x+5)^4 (x-1)^3]$$

$$\ln(y) = \ln[(3x+5)^4] + \ln[(x-1)^3]$$

$$\ln(y) = 4 \ln(3x+5) + 3 \ln(x-1)$$

$$\frac{d}{dx}[\ln(y)] = \frac{d}{dx}[4 \ln(3x+5) + 3 \ln(x-1)]$$

$$\frac{1}{y} \cdot y' = 4 \frac{d}{dx}[\ln(3x+5)] + 3 \frac{d}{dx}[\ln(x-1)]$$

$$\frac{1}{3x+5} \frac{d}{dx}(3x+5) \quad \frac{1}{x-1} \frac{d}{dx}(x-1)$$

$$\frac{y'}{y} = \frac{12}{3x+5} + \frac{3}{x-1}$$

$$y' = y \left[\frac{12}{3x+5} + \frac{3}{x-1} \right]$$

$$y' = (3x+5)^4 (x-1)^3 \left[\frac{12}{3x+5} + \frac{3}{x-1} \right]$$

$$(43) \quad f(x) = \frac{x (3x-2)^4}{(x+5)^3}$$

$$\text{let } y = \frac{x^{1/2} (3x-2)^4}{(x+5)^3}$$

$$\ln(y) = \ln \left(\frac{x^{1/2} (3x-2)^4}{(x+5)^3} \right)$$

$$\ln(y) = \ln(x^{1/2} (3x-2)^4) - \ln((x+5)^3)$$

$$\ln(y) = \ln(x^{1/2}) + \ln((3x-2)^4) - \ln((x+5)^3)$$

$$\ln(y) = \frac{1}{2} \ln(x) + 4 \ln(3x-2) - 3 \ln(x+5)$$

$$\frac{d}{dx} [\ln(y)] = \frac{d}{dx} \left[\frac{1}{2} \ln(x) + 4 \ln(3x-2) - 3 \ln(x+5) \right]$$

$$\begin{aligned} \frac{d}{dx} [\ln(y)] &= \frac{1}{2} \frac{d}{dx} [\ln(x)] + 4 \frac{d}{dx} [\ln(3x-2)] - 3 \frac{d}{dx} [\ln(x+5)] \\ \frac{1}{y} \cdot y' &= \frac{1}{2} \cdot \frac{1}{x} + 4 \cdot \frac{1}{3x-2} \cdot \frac{d}{dx} (3x-2) - 3 \cdot \frac{1}{x+5} \cdot \frac{d}{dx} (x+5) \end{aligned}$$

$$\frac{y'}{y} = \frac{1}{2x} + \frac{12}{3x-2} - \frac{3}{x+5}$$

$$y' = y \left[\frac{1}{2x} + \frac{12}{3x-2} - \frac{3}{x+5} \right]$$

$$y' = \frac{x(3x-2)^4}{(x+5)^3} \left[\frac{1}{2x} + \frac{12}{3x-2} - \frac{3}{x+5} \right]$$